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the answer of the question belonging to the same part in the same order.

Q. No : Question _ ..-| €O | Marks
QL. | (2) How many bits in the run length encoding using k = 3 bifsfor-the | 1 3
following message? v
“00001100001100000111001100011010101001 1”
(b) What will be the closest codeword for the training ’ { (3 5,6,9) and the 3 2
code words are C1(2,1,4,3) , C2(5,4,3,6), C3(0 ’3,7,4) C4(1,10,0,1)7
(c) Find the entropy for P (a) =0.2, P (b)y=0.22, P(c) {. 25 P(d)=0.337 2 2
Q2 | (a) Find the decoded message using BWTn ethod for “INDAT” and index = 37 3 2
(b) Find the arithmetic tag code folrf ' age ‘::india”, itP{a)=0.1,P(d)=02,|3 5
P(i)=0.3,P (n)=04? :
Q3 (a) Initially there are two code words chosen C (0) =2, C(I)=5 for the following
pixel distribution. Assumc that € = 0, Distortion (D) =250, X [0] = [0, 2], and
X [1] =13, 7] What will be the final code words using llyod algo. up to two
steps? . 6 5
Pixel Values=: 10 |7 11 9 10 g 12
Frquéf’iq_z__ 2 20 |30 10 (30 |20 |15 15
(b) Usmg the above output, ﬁnd the compression ratio for the following pixel
distribution in an image? 6 2
| Pixel Value |8 9 10 11 12 13 14 14
. Frequency | 15 |20 10 {10 |5 20 5 5
Q4 {a) Construct the K-DD tree in 2-d plane for the following sequence insertion
X 6 7 2 3 4 8 5 1 91| 6 | (+2)
Y 2 1 9 6 8 4 3 5 5
|




of nodes. Show the partition of points in 2-d Plane?

(b) For the above part, Find the closest code word to the (6, 3)?

05

(a) What is the worst case behavior of LZ77, LZ78 & LZW method?
(b) What will be encoded string using LZW method for following message?
“wabba#wabbaffwabbaftwabbaffwabba”




